25 E FAERMRY—S BIEX 2017.7.135TIERR

HfE =15 BAte xi&k 2= HfE <15 FAts  xiE =¥
B4 10:00 | 156 Eit AL EEEB TR B 10:00 180 HE R R Eit Ef T
4/8 12:00 [28B| HZE EMEB [ Rl B 12:00 | 2&FA EF AT Eit
(1) TRy |10:00 1% | IFE MRE |[EERkE 9/2 8 10:00 | 2%fB B EMEEB | KB
‘ 12:00 | 2EFA | EEBHRE EE FE SRR () 12:00 | 2%BA | —EHE AEJI | EHEEB
=g | 1000 [2EA] EF £ B Az |1000 | 2#EB Eowil) hE | —=7EB
12:00 [28fB| 25 B E0 - 12:00 | 2&#BA | —=EB 2EHRE | AX
. 10:00 | 280A | £ T ZB — B | e . 10:00 | 18 | FEB® —EE | e
ERT o0 Tome] —= XIUE B | oW RBR 00 [ 288 | Hi= —= | —=@
4/9 [ = [1000 [288B] FWiE —=IB =M Sl 1000 | 138 Rl ) 25
q=)) S [ 1200 | 188 | EME BB | —=IB 9/3 12:00 | 2&8B | KILUF 25 &
)| (10:00 2E8A [ KE I —=7EB & (2) 55 10:00 | 2%(B 133 —=IXB|—=4tB
= 12:00 | 1%p & ZER | —=FEB 1200 | 188 | —=4kB THRAB-E T ¥B
Fyy [1000 | 28081 49 N | —=mE 271 | 1000 | 28A | A ER 1E
12:00 | 158 | —=rF —=4tB A0 12:00 | 1B BEMEE PN ] LA
KL 1000 28B| XIUFg SEMEEB ;IFg )| |10:00 258A | KB Eil EWEE
1200 | 188 [ Edt AN BEHMEEB = 12200 | 1%f BEHMEE Eit el
4/15 [ 1, |1000 18 | KU — = —= E@ 1000 2E8A Ef 7&B EER
(1) 12:00 | 22pB| —= A3 — =/ 9/16 1200 | 13 | ZEX —=4tB #B
@ | 1000 28B| EB iE 7EB (1) g | 1000 2818 A= FH | —=FEB
‘ 12:00 | 28FA| —HBELE B s ’ 12:00 | 2&#BA | —=EB i T 1M
ey 1000 ] 188 [ —=4eB B | —ETIB| mope wyy | 1000 | 28FB B RIUFE i
12:00 | 2B —= 1B vl SEMEE ' 12:00 | 1#p STFg i RILEg
g [10:00 [280A] —=FEB e B S 1000 | 138 ALl BHRHB| —F
4/16 12:00 [280B| FZE B £ 12:00 | 2E%B il —= BB
(B) [ gyt 1000 [280A] T kB & M7 g [ 1000 | 2808 | HZE —EIXB|EE#E
» 12.00 | 150 it FRRE %2 (8) * 11200 | 2#fA | —HEGE [-| HAKRE FETEB
ppg | 1000 ] 15 EER THREB | EERE faiRmE | 1000 | 18 HiE iR — = FIAHE
’ 12:00 | 228A| RS AZ)I|_EE03RHHE R 12:00 | 2#pB | WfE SEWMEEB | —=mE
sk | 10:00 188 | EMEE ZER 7133 R 1000 288A EE Efi | —=itB
‘A 12:00 | 2&FB | ;E#EEB 13 ZER 1200 | 1# | FERE —=dB | EW
= |1000 12 | B = —= 9/23 . 10:00 | 2&RB — = Ak | —=HEE
6/10 12:00 | 2&B| —& —EI%8 = (1) 12:00 | 2&BA £ —EEE | BE
(1) | zq [ 1000 [28BA[ 70 SERE | B a4z 1000 | 238 | A BAHEEB | EB
12:00 | 2&(B| &EHH HiE [EERE - 12:00 | 2ZBA | — =B B ;EMEEB
- g [ 1000 25B| 2B = iIE gy [10:00 2808 B 7138 Al
’ 1200 | 1% | — = iIE = ! 12:00 | 1B Al ZER FH3
o myy [ 10:00 [28A] — EEE Efi | —=4B g | 1000 | 158 | —EE Edt FIAE
SE[Mo00 | 188 | £ —=4tB B 9/24 1200 | 2E%B iz A ILE Eit
6/11 Aem)y [10:00 28A KREJI BT EEEN3REAE (8) - 10:00 | 1% & EMEE 25
(=) = 12:00 | 18 |E%0%28AB fRRE | BT = 1200 | 2&fB |—= T %8B 25 AR
L |10:00 28B| XKILUFE HE EE prag T |10:00 28FA | tEHET EEHRE EAMERHB
12:00 | 28A| 1R =B RE " 12:00 | 1%p IR ZHREB [ EERE
PR INTE T T SEEE 2B 10:00 | 188 | BEW Im  |—=EIX
12:00 | 288B| =B —= EIREE AEN [ 12:00 | 28B [ — =T % B SIFE
fmsngy | 1000 | 120 | FERE ZEH &30 14:00 | 2%BA | KRB Ef hirE D)
6/24 | MR 12:00 [ 2&8B| &%) x| ZER 10:00 | 188 | SEMEE —Em | —=
(1) g3 1000 25B| A F AU EB EMEE | 1200 | 2#B | EHEEB —= —=EME
12:00 | 2#FA | KRE)I| B pNIIL] 14:00 | 2&BA | — =7 LA BEMEE
7y 1000 [28A] 70 E&T FiE 10/7 10:00 | 13 S 28I | KIUFg
12:00 | 288B] FZ s T ) RIWEF | 12:00 | 2&B | XiuFg &0 i
g [10:00 180 —"g“;ﬂ;‘B IR —Eﬁ 14:00 [ 2#FA %f-;.f.:@é EB el
12:00 | 2#FA | — = HLE LA PN ] 10:00 | 1B FERE g1l hE
6/25 | _ g | 10:00 | 280A| —E=FEB B =L FRIRE | 12:00 | 2%B | EF 25 |—EEE
(H) 1200 | 188 | — &= =2 =i 1400 | 280A | —BmELE EBT | =25
=4 | 1000 1E [ Ek BHIZLBEB —= T %8 - 1000 | 1#8 | —=4tB Eit
12:00 | 2%BB | ;E#AEB |-| —= T %8B E 5132888 12:00 | 2%B 3 FIAE]
s g o | 10:00 28A | EEHRE Er —=
=™ H112:00 | 288B| B —B Ef
7/8 | czn [ 1000 [286B] AN A FiE iR R
([ " 12:00 | 188 | EMEE FEiR R s
g [ 10:00 28B |— = T %8B XILUE &=
12:00 2‘.:'13A %E%Ei RSN | RIUEE
. . 10:00 | 188 [ Eit EMEEB
08N EBR 5500 [2806] EHED 25 Edt
g | 1000 |280A] —EFEB —EEE EHEEAE
7/9 12:00 | 188 | — =6 ZRIZREAB | —H EE
q=)) sz 1000 28A | ER EB PN ]
1200 | 188 [ Kl PN #EB
Fg  |1000 2B HE £33 E
1200 | 18p [ —=4LB & 13



